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(1) £ AABD W i 523k i TR cos 2 ABD = leu% = =

%18 2 BDC = 2 ABD,Fil cos s BDC = %

TE ACBD & iR EIB BC = 1 + 1 - 2c08 £ BOC = %-,a BC = 3“;3_



(2) i £BDC = o, BC = zsin%.u = 2cos o
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(1) A RFEEE"FEE—-TEERD B 29FELH | HREMNE".
m“_’il;:iﬂ"‘_n;: LR
Ml P(A) = P(AA) = P(A,)(A) = (1 -0.1)(1-0.2) =0.72,
P(A) = 1 - P(A) = 0.28.
(2) X dyaT HEMLE % 0,1,2,3.
P(X =0) = P(A,A,A,) = P{A,)P(A,)P(A,) = (1 -0.1)(1 -0.2)(1 -0.3) = 0.504,
P(X = 1) = P(AAA, + A, 4,4, +4,4,4,)
= P(A,AA,) + P(AAA) + P(AAA,)
= P(A, ) P{AP(A) + P(A,JPIA,YP(A,) + P(A, )P4, ) P(A;)
=0 10x0.8B0=x0.70+0.90 x0.20 x0.70 + 0.90 x 0. 80 x 0. 30
= 0. 398,
P(X = 3) = P(A,AA,) = P{A,)P(A,)P(4,) =0.1x0.2x0.3 = 0,006,
P(X=2)=1-[P(X=0)+P(X=1)+P(X=3)]
= 1 = (0.504 + 0.398 + 0.006)

= 0.092.
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X WA

EX =0xP(X=0) +1xP(X=1) +2xP(X =2) +3xP(X =3)
=0 x0.504 +1 0,398 + 2 x0.092 + 3 x 0.006
= 0.6
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Fexln-2Exw+Fx2n=(V-E+F) x2n = 4n.
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(1) % BF L AFB, | BF1 = 6|5 -1 =%,mﬂmmﬁ:=g+;

a
R =a + 0,82 vac - = 0,0l =~ 1(&%),— =2
Fril C L8 0 2.



(2) (1) W e = 2a,b = S0

t 2

ﬁﬂt-ﬁ.-fp}pmln '}nlrﬂ }ﬂ'llﬂ-_:"?-;T'] = l!mj: - 3':: —3!]:-
% xy % c B} tanz BAF = —22 yan, ppg = — 20
%, +a %= C
FTLL tan 22 BAF = —2WnZBAF _ 2(x +a)y, 2(x, +a)y, =%

L-tn' LBAF ~ (2, +0) -y  -2(z +a) (% -23) "% ~¢
EHE  tan 2 2 BAF = tan ZBFA B) /# BFA = 2 /7 BAF.
SNz =B, HEHB LBFA = 2/ BAF,
EEl,.BFA = 2/ BAF.
22. 1§
(1) f'{x) = ¢ = CO8 X + Sin x;

(i) %z e {-i—"', - 31 B, — sinx ~ cos x = 0,4 f(x) = 0

(il) Hx e (=300 M, - cosx+ainx <=1, /'(x) <0, f(x) RBBE, FAO) = 0, 4 /(x)

=0,
(i) %x =004, f{x) =0
(iv) Bxe (0, +) BF,1 +2 >eosx+sinx fh(x) =¢" -x=| MYy e (0, +o0) BF,A'(x)
=e" -1 > 0,8 hiz) RN h(0) = 0. BFLLfx) > hix) > 0.
(2) @ kiz) = (glz) =2 =ax)’ =g'(z) -a =e' +cosx —sinx-a, B k() =flx) (1) |, %

e (-8, 4 o) B, K (x) 3 0,k(x) -3% 4 ) BN AO) =2 -0

(1)#Fa>2,k0) <0,k(lna+ 1) >0,MFER—=x, e (0,lna + 1) (8 k(x,) = 0. 2%
*& (0.%) B k(s) < 0,g(x) -2 - ax PAEBMR, M L(0) -2 —ax0 = 0,8 g(x,) -2
—ax, < 0;

(ii) #%0 <a <2,k(0) > 0.k( -7) < 0, MUFFLEM—x, e (=w,0) B8 kis,) =0,%2 e (%,
0) Bf \k(x) > 0,8(x) - 2 - ax MBI, i 2(0) -2 -a %0 = 0,4 g({x,) -2 -uax, <
0;

(i) #a<04(-3) -2-a(-T) <0,
(iv) Fa = 2,k(x) BMB¥ L0) =0
g {-‘%’.ﬂ}ﬂ.kt:} <0,2(x) -2 -2 > 0;

Yre (-, -2) i ,g(z) -2 - 22 > 0,
Hxe [0, +o) B ,k(x) >0,g(0) -2-2x0=08g(z) -2-2¢ >0,
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